DJI SNAIL

6048-3D Propeller
5048 Tri-Blade Propeller

User Guide

A

EFIREA
aA—4—HAK

ALK} 7t0|E
Bedienungsanleitung
Guia del usuario
Guide de l'utilisateur

(Vi) 2016.12

ciy






Contents

User Guide
CHS fEFREE
CHT)  {EMRA
A-Y-HAK

AEAL 71|

Bedienungsanleitung

ES Guia del usuario

FR Guide de l'utilisateur



Disclaimer and Warning

Thank you for purchasing the DJI™ Snail series product (hereinafter
referred to as “product”). The information in this document affects your
safety and your legal rights and responsibilities. Read this disclaimer
carefully before using this product. By using this product, you hereby
agree to this disclaimer and signify that you have read it fully. Please install
and use this product in strict accordance with the User Guide. SZ DJI
TECHNOLOGY CO., LTD. and its affiliated companies assume no liability
for damage(s) or injuries incurred directly or indirectly from using, installing
or modifying this product improperly, including but not limited to using non-
designated accessories.

DJl is a trademark of SZ DJI TECHNOLOGY CO., LTD. (abbreviated as
“DJI") and its affiliated companies. Names of products, brands, etc.,
appearing in this document are trademarks or registered trademarks
of their respective owner companies. This product and document are
copyrighted by DJI with all rights reserved. No part of this product or
document shall be reproduced in any form without the prior written
consent or authorization of DJI.

This disclaimer is produced in various languages. In the event of divergence
among different versions, the Chinese version shall prevail when the product
in question is purchased in China, and the English version shall prevail when
the product in question is purchased in any other region.

Introduction

Snail 6048-3D Propellers and 5048 Tri-Blade Propellers are compatible with
the Snail Racing Propulsion System. When mounting onto the Snail 2305
Racing Motors, extra Snail Propeller Adapter is necessary for securing.

2



Parts
Get Snail 6048-3D Propellers pair (CW, CCW), 5048 Tri-Blade Propellers
pair (CW, CCW) and Snail Propeller Adapter on Official DJI store E

separately.

6048-3D Propellers 5048 Tri-Blade Propellers Snail Propeller Adapter

Assembling the Propellers

Tools Required: M2 hex key and Snail Propeller Adapter

1. Remove the screws securing the Quick-Release Propeller Adapter on
the 2305 Racing Motors, and then remove the Quick-Release Propeller
Adapter and the spring if there is any.




2. Remove the cap on the Snail Propeller Adapter.
3. Align the holes of the black Propeller Adapter with the holes on the CW
B motors. Insert the M2x4 screws and tighten to secure. Align the holes of

the red Propeller Adapter with the holes on the CCW motors. Insert the
M2x4 screws and tighten to secure.

4. Install the unmarked propellers onto the red Propeller Adapter, and install
the propellers marked with CW onto the black Propeller Adapter.

5. Secure the propellers by rotating the red cap onto the axes of the red
Propeller Adapter and black cap onto the axes of the black Propeller
Adapter.

A * Using 6048-3D Propellers installation as an example.
* Before mounting the 6048-3D propellers, select 3D Mode in DJI
Assistant 2 and update the corresponding firmware.
« Stand clear of the motors and DO NOT touch the propellers when
they are spinning.
* DO NOT mix propeller types.




& « Use appropriate propellers for your needs, as they are easy to
wear out.

* Look after screws during installation and removal

* Refer to the DJI Snail Racing Propulsion System User Manual for
more information.

Specification

Propellers Diameter x Thread Pitch Weight (single propeller)
6048-3D propellers  6x4.8inch (15.24x12.19cm) 4.10g
5048 propellers 5x4.8inch (12.70x12.19cm) 5.689

‘This content is subject to change.
Download the latest version from
http://www.dji.com/snail

Dl is a trademark of DJI

Copyright © 2016 DJI All Rights Reserved.



SHO

e
JBABHEIESE DJI™ Snail EERSHERENDRARIEN . 1EEF Snail FHE
SIEEMNNRRRIIEM 2R, BFRARAEE, —BER, B
XIAFBEEEABANARIIES . 1B TR E A% M.
FBPASER. R, Bk (BIEERIEEEN DI TEeM, 0l B,
BB IRHERS ) IERAOEAIRAE, RYITATE " SRR ARATIRE
REABERIBETEE.
DJI 2RI A IE I FRHLB IR AR REXBK AR AXHI
FRER. RE%, WAHMBARMEIREMER. Ar-RRIEE
AR RIBEIFEHLBIRABMRAE .. REVH, FELUEAHR
SHEED.
KT ARIESRANREEREAFERNENES, PEUPIRAE,
Hfthith KA AE o

[0
Snail 6048-3D ¥ 5048 =R FITHAE Snail BESHERANNRGEER
WIFHZHET Snail 2305 FEEFBH L, BIEER Snail EERAEEIHIHTERE .



LiEES T
Snail 6048-3D % (& CW & CCW 3£ ). 5048 =3 (& CW }2 CCW %)
BRI IMIOE, BPBEHBIWSE.

¥ &

6048-3D % 5048 =M% Snail ZiEREERE

RRIBHER

LR EEERTREERRY (M2x4) HRARERF.

1. P TR 2305 FHRE F DRI, BT TR
JEGEE: 5 2305 Bl E AT EIRERAR0RLL , FHEN FIRRAER 3P




2. BUTIRNEREE A FRTNENE -
3 B BEEREEMS COW B EMZIRAIF, ReBEREkst
5 CW EBH EHZEFLITST, T RIBLLHTEIE
4. ZEARHH CW InSHIRIER BB 1 SRR BN £, &
CW HRaSHOSRIERE R AR ROBAL L
5. G RIEIR LR LB AV L, FHIRATEH S NI ChEIE, &
BT ENERE R EIEIE, BEETREE.

/N REBRBALL6048-3D K0fl.
*6048-3D RZF7E DJI Assistant 2 JHSHchiiR “3D B I
BTEEF R
* HFRMESE, B/IVOIRIELBEIMIG -
* FrEIRAAEESHNEIER .
PR ABIER, IERE, BRTWE.
RESEPE TR ERERLERG .
MR EIESE (DI Snail BESHERDHRGHFAFM) -




PR

RAESR BZ /B B8 (82R)

6048-3D % 6x48inch (16.24x12.19cm)  4.10g
I

5048 =3 5x4.8inch (1270x12.19cm) 5689 @

WENEEH, BABTEN.
SERILME DJI EXNISEARRA
http://www.dji.com/snail

DJI RAEEIHHIR -

Copyright © 2016 F3EEIH RIS



1HO

REEN

REHEIEE DU Snail SESIERBNRGRIBRA . TEEA Snall FiE
EREBNRGRIRIAZE, WEAMERE; SEHNEE, DR
R EARBNSHNG. BRSETRRIIIE R TR
(PRS2 . SR PR S O (EEBRRHIEI R0 D) S,
0 B, . BHERS ) SR, RYITAE ™ AR
RATIREMBATIFEE.

DUl BRI AR EIR AT R BADIBE. AT LBNE
e, RS, WARFBASNEENERGIE. AERRREAR
YT ABASTRREIRATIRIENS . FEHT, MUY
D,

WARESIANSSHBERER, FELRTIRAE, REESR
BTN

iy

Snail 6048-3D #F: 5048 =RAZMHIEHED Snail FREZHERE N FRMGEE
FBo AITBEAEHT Snail 2305 FREFBIE L, FHREEL Snail HiBigiglER L
HEATEIE .



izl
Snail 6048-3D #£ (& CW J CCW #£), 5048 =48 (& CW K CCW #8)
REBRSERITIRBIK, EREFIIBE.

6048-3D ## 5048 =558 Snail EiBEEEEER

REIRHEIR
LR RERRNREERES (M2 x 4) IAARIRTF.

1. EEREF PR 2305 RERBECTERIFERRE, BIBSTHRTRE
FEJECEE : $ABE 2306 FiE AR EIRIEEEAOIRAS, AN T IREZEER SEE




2. BN RIS g R EAOBEIR .
3 Al ETBREERE CCW BiE FHREFHTE, SR TEEE

e CW %LJ:ETE%%?L%? =, WP .

R EFIRBI SN ERANBEL, I
IR RO EIE L.

o
&l s ﬂ%ﬁﬁﬁm’sii&@%iﬁiﬁ%ﬁﬂ#ﬂﬁmt, ANEESE 75 [ HEBAT TN,

FRHTS AR EIEE, BRReEERLE.

* RHERBALL 6048-3D 22AHI.

* 6048-3D #2ZE7E DJI Assistant 2 2 EESEIE [ 3D 183 | i
1TEIREFHAR

* BAREEEERGE, EAVOERME, LIBSESMING.

* NERFARERSRIRNES

IZIERARIERS, WEFE, BRTHE.

CIREBIER, ETEREREEMET.
* SHANZEZRY ( DJI Snail FERZIERIHRGEBEFM) o




EmSE

12hEE BiR /26 HE (ER)
6048-3D 1 6 x 4.8inch (15.24 x 12.19cm) 4.10g
5048 =5E#E 5 x 48inch (12.70 x 12.19cm) 5689

1HO

WBUEES, BABITEA.
SERETUBLL FRRBIAEA
http://www.dji.com/snail

DJI RATEAIFHIASIE,

Copyright © 2016 AFELIF hRIEFTE



REFESIUES

DJI™ Snail /1) — R IATIARRIEVWET) ETEAVLEBUH
ESTEVET, ABTId 1~ —DRLLANNEN L BIEICH T ZERE
RS TOVET ARREERTBTLICEY, COREFEL L <HFH<
EVFRREERT DL CORERBE TN o TNUCFELZE
HEENE T, ARGRE, I —F—AA FICRBEINTOB LSBT
TR L TLIEELY, SZ DJI TECHNOLOGY CO., LTD. & Z DRSERHHE A&
RGO TET R B ST E 2 0E GBEND TV 2T —DERG
ERBENEY) &V ERE RN A RE CECMIBEE L
AHEITOVT LD EZEEEBVE AL,

DJI 1&.SZ DJI TECHNOLOGY CO., LTD. B&LCIDJI)) HLUZFDRGERH
DFEFETT AEICEHEINTVRRG. TS5V FaEDLMd. ZDFEE
THIEHOBWREISEBRHIRCT FAURBLUARE IS FTER-2
SEWEREERAIE TS DIl DEEADT8. DIl HSBEICLSBRIAEE
feldFrsEE 85T L a  AMREIEIEDV DR BN G, WHED %
ICEOTHREM T BTLFECHLENTVET,
CORBEFEBFEHOSECRUESNTVET. EEERONBICIRE
HH2HE FEICCBATNRURITOVTETEEBROAB MBS
TN ADIIFICTHBAT NI BRI OV TERBRONB L BRI N
EXH

IZLsIc

Snail 6048-3D FONRZHELU 5048 FJTL—RFTOXSIE, Snail L—RFB
DHEED AT NS L TWE T, Snail 2305 L—RABE—42—|THE#H TS
[l B DT=EHITHIFED Snail 7OXRST7HT2—HUETT,




BB

Snail 6048-3D ZOXZM 148 (CW.CCW). 5048 ML —RTORSD 1
#8(CW.CCW) BT Snail 7ORZTHT2—% ZNZh DI RRAT
TAFLTLEEL

6048-3D 7ONXS 5048 FUTL—RTONS  Spal TONRSTHT2—

TaRSDEHFIT

BEETEIM2 AL YFE Snall TARSTHT2—

1.2305 L—RBE—2—IT0A v ) ) =R TARST7AT2—%BELT
WBRIBNLTHS. IA v =R TOARST LT 2—HLURT)
2 (HBHE) EBIALES,

# %

oy




2. Snail 7ORS 7L TR2—DF vy TERIALET,

3 EBOTORTTHATL2—D%E CW E—2—DNICADEET,
M2x4 2V EFALMHHTITEELET. ABEOTOARSTLT2—
D7V CCW E—2—DICEHEE T M2X4 2 IZRHAL KOS
TEELEY,

4. X—=0ELOTORSEFREDTOANS T A T2—CBIHF CW < —2
FEDTARSEBEDTORS 7L T2—CBIITET,

5. REOTARST LT 2— DM THREDF vy & BEOTOANRSTH

TR—OHTEBDF vy TEEIGE €T TONSEEELES,

* F[IE.6048-3D TONRSOEIMSIH B EEBICHEL CLET,

* 6048-3D OIS ZEW(HFZHIIC. DI Assistant 2 T 3D £—
REFRL KT % 77— LT 7 EBH LTS LY,

* BE—L2—TEDVE) BEELTL S T aXSIcan fzy LisL
TLEEL,

* REHEEOTONSEEE THERALEVN TSN,




STARSEBELLTVO T Z—RICES L TONSEERLT
<rEEN,

* RS ERIAAL DI, 22 DE IR T3

* BHBICDULNTIE DI Snail L—RBH#EES AT LDI—H—I =2
TIVEBBLTIIEEN,

i
7arz BR X xIEYF EE (7OXSEME)
604830 75 15.24X12.19cm 4.10g
5048 7ORS 12.70%12.19cm 5689
ANBIBEBENZTENBYET,

BRI TRL DYoo O- FLT(EEN
htp:/www.dji.com/snail

DJl & DJI DEHETT,

Copyright © 2016 DJI All Rights Reserved.

o



x| Argt e Fa

DJI™ Snail HIZZS Olel FAAM ZARRILICE (2 FX|= 0% “HE 22 A5 gL

Ch) 2 2M2 F2E AL8XIe| o2 £2 X Ha| Y Melof| ¥&ks |ELct 2

HZE AFgs7| Tofl 2 2M2 X AtekS Fo| 27| 0] FUAIR 2 HES A8
SHe 242 0] x| Aol S2I5tn RE LB S Y2 HOR ZFELIC BIEA A
X MMl 2t HIES R[5t AF83HYAIL. SZ DJI TECHNOLOGY CO, LTD.2t

S AslAks XIHEIX] 242 AMIMRI| AHSS ZEHE 0fof =5te|X| o4S)5t01 Xl

0| P AL, UX| £ HZZR QI A E= IR o2 Wilshs o W £

o chaf ofrst A= X|X| QFELICE

DJIi= SZ DJI TECHNOLOGY CO.,, LTD. ({2 “DIr)et slie AtzlAte] AEILICE 0]
240 EAIE HE OIS, SIS OIS S2 T 2K 4 £ 5= HEeLIC

DIl 2 HED 2M2| AQAT 8| BE AHS BRBLIC 2 XIE E MYA
Ol 2 DIIS| HE! 57} EES 52| 810] O HAORE KPAE 4

Of K| A2 Cirst 01012 RIS ELICE M2 CF2 BT Ziof XjolHo| Qls 22 &
=M ZIE 0 Al 5201 0| 2MH o2 MEE|0f 7|E X|0f M K 0H Al
Foq BiFlo| 2Mx{oZ HEEL|CH

|

6048-3D Z2H3 Y 5048 E2L0| 23/0|= Z2HR{= Snail 014 F7T A AE
h SEHEILICE Snail 2305 ZF8 ZE{0]| ZAf Al 7t Snail Z2H2] O{HES AL
3ff naof ghict



bz
TS

Snail 6048-3D ZR2H2{ 4(CW, CCW), 5048 E2}0| S21|0|= ZRH2| 4(CW,
CCW) % Snail Z2E2] O{HE{= Z4| DJI AE0{0) M P2 J0HE 4 QUELICE

LE

6048-3D Z2Hz| 5048 E2to| £2j|0|= Snail Z2H
o2Ez
mZZ2sa| X8
Lost &7 M2 82t 7| Y Snail Z2U2{ OfHE
1. 2305 2f0]d) ZE{0llA 2 Za|x Z2Ha| ofHE S DFSH= LIAE F7{E Ch2
2| 2e|x Z2UR OfgE{9 AZR(Ql= FR)S ML




. Snail T2 OfRIE(OIA 12 HABILICH
Ze m2u Ofsiefol T8I} CW DE{O] PYZ LELICE M2x4 LIS 4
8 EFEHSPA ZRILIC W2 T2ue ofgielel IR COW eS| AYS
BLICE M2x4 LIAE AI5HD Eietsp ZeiLc

W71 22 OfE{of EA IS/ 942 TS A TS CWE EA
2He|E x| Tua ofHE(o] FAIBLICL

71 282 OfgiE] S0 hs W2k 24} 22 TR ofHE] S0 s
oM #g S Z2u21S DAL,

SMEES=

N}

)

w
[is

e

EE

bl

o

& «6048-3D Z2EE MX|Z 0f|2 ASELICH

«6048-3D T2 S HE517| Hofl DI Assistant 20| 3D ModeS MEY
5t sl HRUOIS QEI0|ESHIAIR.

« DE{O|N Y 2| £ MR 5F B0 T2URIS OHX|X| DRIAIQ.
- Z2UR| R3S EHSIK| DA,
« S50 W= MEeH Z2U2IZ ABSHIAIOIRE £ US).
< MR W HH EF LIS B HESHIAIR.
« KAIH LHE2 DJI Snail 2{0] 4] 21 AJAR ALBX} DiRUS AZSHIAIR.




A

g =12 x LARH IR S|z =e S
6048-3D ZRHA|  15.24x1219cm(6x4.821%]) 410g
5048 T2H2 12.70x12.19cm(5x4.891%) 568g

O 2A2| LIS IRIER| HBE 4 UBLICE
EA BH2 TS 8 AO|EOIM CH2RESHIAR
http://www.dji.com/snail

DJI 2 DJie| AtEQLICE

Copyright © 2016 DJI All Rights Reserved.



Haftungsausschluss und Warnhinweis

Vielen Dank fur Ihren Kauf eines Produkts der Serie DJI™ Snail (im
Folgenden als ,Produkt” bezeichnet). Die hier enthaltenen Informationen
betreffen lhre personliche Sicherheit sowie |hre gesetzlichen Rechte und
Verpflichtungen. Lesen Sie diesen Haftungsausschluss aufmerksam
durch, bevor Sie dieses Produkt verwenden. Mit der Verwendung dieses
Produkts bestétigen Sie, dass Sie diesen Haftungsausschluss vollstandig
gelesen haben und diesem zustimmen. Installieren und verwenden Sie
dieses Produkt unter strikter Beachtung der Bedienungsanleitung. Die
SZ DJI TECHNOLOGY CO., LTD., und ihre verbundenen Unternehmen
ubernehmen keine Haftung fir Schaden oder Verletzungen, die direkt
oder indirekt aus unsachgemaBer Nutzung, Montage oder Modifizierung
dieses Produkts entstehen, einschlieBlich, jedoch nicht beschrankt auf, der
Verwendung von nicht vorgesehenem Zubehér.

DJl ist eine Marke der SZ DJI TECHNOLOGY CO., LTD. (kurz DJI) und
seiner verbundenen Unternehmen. Namen von Produkten, Marken,

usw., die in diesem Dokument enthalten sind, sind Warenzeichen oder
eingetragene Warenzeichen der jeweiligen Besitzer. Dieses Produkt und
dieses Dokument sind urheberrechtlich geschtitztes Eigentum von DJI und
alle Rechte sind vorbehalten. Kein Teil dieses Produkts oder Dokuments
darf in irgendeiner Form ohne die vorherige schriftliche Zustimmung oder
Genehmigung durch DJI reproduziert werden.

Dieser Haftungsausschluss existiert in verschiedenen Sprachen. Im

Falle von Abweichungen zwischen den verschiedenen Versionen ist die
chinesische Version maBgeblich, wenn das fragliche Produkt in China
erworben wurde, bzw. die englische Version, wenn das fragliche Produkt in
anderen Regionen erworben wurde.



Einleitung

Propeller vom Typ Snail 6048-3D und Propeller mit drei Rotorblattern vom
Typ 5048 sind mit dem Snail Rennantriebssystem kompatibel. Bei der
Montage an Snail 2305 Rennmotoren ist zur Sicherung zusétzlich ein Snail
Propelleradapter erforderlich.

Teile

Erwerben Sie ein paar Propeller vom Typ Snail 6048-3D (CW, CCW), ein
Paar Propeller mit drei Rotorblattern vom Typ 5048 (CW, CCW) und einen
Snail Propelleradapter separat in einem offiziellen DJ| Store.

Y &

6048-3D-Propeller 5048 Propeller mit drei Snail Propelleradapter
Rotorblattern

Zusammenbauen der Propeller

Bendtigte Werkzeuge: M2-Innensechskantschltssel und Snail

Propelleradapter

1. Entfernen Sie die Schrauben, mit denen der Schnellverschluss-
Propelleradapter an den Rennmotoren vom Typ 2305 befestigt ist, und
entfernen Sie anschlieBend den Schnellverschluss-Propelleradapter
sowie die Feder, falls vorhanden.



2. Entfernen Sie die Kappe am Snail Propelleradapter.

3. Richten Sie die Locher des schwarzen Propelleradapters auf die
Bohrungen an den CW-Motoren aus. Setzen Sie die M2x4-Schrauben
ein, und ziehen Sie sie fest. Richten Sie die Lécher des roten
Propelleradapters auf die Bohrungen an den CCW-Motoren aus. Setzen
Sie die M2x4-Schrauben ein, und ziehen Sie sie fest.

4. Montieren Sie die nicht markierten Propeller auf den roten
Propelleradapter, und montieren Sie die mit CW markierten Propeller auf
den schwarzen Propelleradapter.

5. Sichern Sie die Propeller, indem Sie die rote Kappe auf die Achsen des
roten Propelleradapters und die schwarze Kappe auf die Achsen des
schwarzen Propelleradapters drehen.




& * Als Beispiel dargestellt ist die Montage von 6048-3D-Propellern.

* Wahlen Sie vor der Montage der 6048-3D-Propeller den 3D-Modus
in DJI Assistant 2 aus, und aktualisieren Sie die entsprechende
Firmware.

* Halten Sie ausreichend Abstand zu den Motoren und berthren
Sie NIEMALS rotierende Propeller.

* Verwenden Sie AUSSCHLIESSLICH Propeller des gleichen Typs.

« Verwenden Sie Propeller, die fur Ihre Anforderungen geeignet
sind, da sie ansonsten schnell verschleiBen kénnen.

* Achten Sie bei Montage und Ausbau auf die Schrauben.

* Né&here Informationen finden Sie in der Bedienungsanleitung des
DJI Snail Rennantriebssystems.

Technische Daten

Propeller Durchmesser x Gewindesteigung Gewicht
(einzelner Propeller)

6048-3D-Propeller 15,24 x 12,19 cm 4,109

5048-Propeller 12,70 x 12,19 cm 5689

Anderungen vorbehalten.
Die aktuelle Fassung finden Sie unter
http://www.dji.com/snail

DJI ist eine Marke von DI

Copyright © 2016 DJI Alle Rechte vorbehalten



Renuncia de responsabilidad y advertencia

Gracias por adquirir este producto de la serie DJI™ Snail (en lo sucesivo
denominado el "producto”). La informacion incluida en este documento afecta
a su seguridad, y a sus derechos y responsabilidades legales. Lea esta
renuncia de responsabilidad detenidamente antes de usar este producto.
Al utilizar este producto, manifiesta su conformidad con esta clausula de
renuncia de responsabilidad y confirma que la ha leido completamente.
Instale y utilice este producto en estricta conformidad con las instrucciones
de la Guia del usuario. SZ DJI TECHNOLOGY CO., LTD. y sus empresas
filiales no asumen ninguna responsabilidad por darios o lesiones causados
directa o indirectamente por un uso, instalacion o modificacion deficiente del
producto, incluido el uso de accesorios no designados.

DJI es una marca comercial de SZ DJI TECHNOLOGY CO., LTD. (abreviada
como “DJI") y sus empresas afiliadas. Los nombres de productos, marcas,
etc., que aparecen en este documento son marcas comerciales 0 marcas
comerciales registradas de sus respectivas empresas propietarias. Este
producto y el documento estan protegidos por los derechos de autor de DJI
con todos los derechos reservados. No se permite la reproduccion total ni
parcial de este documento o producto en forma alguna sin el consentimiento
previo por escrito o la autorizacion de DJI.

Esta renuncia se proporciona en diversos idiomas. En el caso de que haya
divergencias entre las diferentes versiones, prevalecera la version en chino
simplificado si el producto en cuestién se ha comprado en China. La version
inglesa prevalecera si el producto en cuestion se ha adquirido en cualquier
otra region.

Introduccién

Las Hélices Snail 6048-3D vy las Hélices de Tres Palas 5048 son
compatibles con el Sistema de Propulsion para Carreras DJI Snail. Cuando
se monta en el Motor de Carreras Snail 2305s, se necesita adicionalmente
el Adaptador de Hélice Snail para una fijacion segura.

26



Piezas
Adquiera por separado el par de Hélices Snail 6048-3D (CW, CCW), el par
de Hélices de Tres Palas 5048 (CW, CCW) y el Adaptador de Hélice Snail

en la tienda oficial de DJI.

Hélices 6048-3D Hélices de Tres Palas 5048 Adaptador de Hélice Snail “

Instalacion de las hélices

Herramientas necesarias: Una llave hexagonal M2 y un Adaptador de

Hélice Snail

1. Retire los tornillos fijando el Adaptador de Hélice de Liberacion Rapida
en los Motores de Carreras 2305; a continuacion, retire el Adaptador
de Hélice de Liberacién Rapida y el muelle, en caso de haberlos.




2. Retire el tapdn del Adaptador de Hélice Snail.

3. Alinee los orificios del adaptador de hélice negro con los orificios de
los motores CW. Introduzca los tornillos M2x4 y apriételos para fijarlos.
Alinee los orificios del adaptador de hélice rojo con los orificios de los
motores CCW. Introduzca los tornillos M2x4 y apriételos para fijarlos.

4. Instale las hélices sin marca en el adaptador de hélice rojo, y las
hélices con la marca CW en el adaptador de hélice negro.

5. Fije las hélices girando el tapdn rojo sobre los ejes del adaptador de
hélice rojo y girando el tapén negro sobre los ejes del adaptador de
hélice negro.

& * Como ejemplo, se muestra la instalacion de las Hélices 6048-3D.
* Antes de instalar las Hélices 6048-3D, seleccione el modo 3D en
DJI Assistant 2 y actualice el firmware correspondiente.
*Manténgase lejos de los motores, y NO los toque cuando estén
girando.
*NO mezcle hélices de distintos tipos.




« Utilice solo hélices adecuadas para sus necesidades, ya que
pueden desgastarse facilimente.

« Lleve cuenta de los tornillos durante los procesos de
instalacién y desmontaje.

* Consulte el Manual del usuario del Sistema de Propulsién para
Carreras DJI Snail para obtener més informacion.

Especificaciones

Hélices Diametro x Paso de rosca Peso (cada hélice)
Hélices 6048-3D 15,24x12,19 cm (6x4.,8 pulg.) 4109
Hélices 5048 12,70x12,19 cm (5x4,8 pulg.) 5689

Contenido sujeto a cambios,

Descargue la Gltima version en
http=//www.dji.com/snail

DIl es una marca comercial de DJI.

Copyright © 2016 DJI Todos los Derechos Reservados.



Clause d'exclusion de responsabilité et mise en garde
Merci d'avoir acheté un produit de la série DJI™ Snail (ci-aprés dénommé
le « produit »). Les informations contenues dans ce document affectent
votre sécurité, vos droits et vos obligations. Lisez attentivement la présente
clause d'exclusion de responsabilité avant d'utiliser ce produit. En utilisant
ce produit, vous acceptez la présente clause d'exclusion de responsabilité
et confirmez I'avoir lue dans son intégralité. Installez et utilisez ce produit
conformément au guide de I'utilisateur. SZ DJI TECHNOLOGY CO., LTD.
et ses sociétés affiliées déclinent toute responsabilité en cas de dommage
ou de blessure causé(e) directement ou indirectement par I'utilisation,
I'installation ou la modification incorrecte de ce produit, y compris mais
sans s'y limiter, I'utilisation d'accessoires non autorisés

DJI est une marque commerciale de SZ DJI TECHNOLOGY CO., LTD.
(abrégée en « DJI ») et de ses sociétés affiliées. Les noms de produits, de
marques, etc., apparaissant dans le présent document sont des marques
commerciales ou des marques déposées de leurs détenteurs respectifs.
Ce produit et le présent document sont la propriété de DJI, tous droits
réservés. Aucune partie de ce produit ou du présent document ne peut
étre reproduite sous quelque forme que ce soit sans 'autorisation ou le
consentement écrit préalable de DJI.

La présente clause d'exclusion de responsabilité est traduite dans
plusieurs langues. En cas de divergence entre les différentes versions, la
version chinoise prévaudra si le produit concerné a été acheté en Chine
et la version anglaise prévaudra si le produit concerné a été acheté dans
toute autre région

Introduction

Les hélices 6048-3D et les hélices 5048 Tri-Blade sont compatibles avec
le systéme de propulsion Snail Racing. Un adaptateur d'hélice Snail est
nécessaire pour installer les hélices sur les moteurs Snail 2305 Racing.

30



Eléments

Vous pouvez acheter séparément les paires d'hélices 6048-3D (CW, CCW),
les paires d'hélices 5048 Tri-Blade (CW, CCW) et I'adaptateur d'hélice Snail
dans la boutique officielle DJI.

Y o

Hélices 6048-3D Hélices 5048 Tri-Blade Adaptateur d'hélice Snail

Installation des hélices E
Outils nécessaires : clé hexagonale M2 et adaptateur d'hélice Snail

1. Retirez les vis de I'adaptateur d'hélice a démontage rapide sur les
moteurs 2305 Racing, puis retirez I'adaptateur d'hélice a démontage
rapide (et le ressort si nécessaire).

ik
&




2. Retirez le cache de I'adaptateur d'hélice Snail.

3. Alignez les trous de I'adaptateur d'hélice noir et les trous des moteurs
CW. Insérez les vis M2x4 et serrez-les fermement. Alignez les trous de
I'adaptateur d'hélice rouge et les trous des moteurs CCW. Insérez les vis
M2x4 et serrez-les fermement.

4. Installez les hélices non-marquées sur I'adaptateur d'hélice rouge, puis
installez les hélices marquées CW sur |'adaptateur d'hélice noir.

5. Fixez les hélices en faisant tourner le cache rouge sur les axes de
I'adaptateur d'hélice rouge et le cache noir sur les axes de I'adaptateur
d'hélice noir.

A * Exemple d'installation des hélices 6048-3D.

* Avant d'installer des hélices 6048-3D, sélectionnez le mode 3D
dans DJI Assistant 2 et mettez & jour le micrologiciel
correspondant.

* Tenez-vous a I'écart des moteurs et NE TOUCHEZ PAS les hélices
lorsqu'elles tournent.

« NE MELANGEZ PAS les types d'hélices.




« Utilisez des hélices adaptées a vos besoins pour éviter une usure
trop rapide.

* Prenez garde de ne pas égarer les vis lors de l'installation et du
démontage.

* Pour en savoir plus, consultez le manuel de I'utilisateur du systéme
de propulsion DJI Snail Racing.

Caractéristiques techniques

Hélices Diamétre x Pas du filetage Poids (une hélice)
Hélices 6048-3D 15,24 x 12,19 cm (6 x 4,8 pouces) 4,109
Hélices 5048 12,7 x 12,19 cm (5 x 4,8 pouces) 5689

Contenu sujet & modifications.
Téléchargez la derniére version a l'adresse
http:/Awww.dji.com/snail

DJI est une marque commerciale de DJI.
Copyright © 2016 DJI Tous droits réservés



DJI Support

DJI BARSZHF

DJI Befiiszig

DJI R — b

DJI D[

DJI Support

Servicio de asistencia de DJI
Service client DJI

http://www.dji.com/support

ceo
If you have any questions about this document, please
contact DJI by sending a message to DocSupport@dji.com.

WMREXSEPBEEARE RN, EEILATRFEE Printed in China,
BXZEA]: DocSupport@dji.com, chEENH



